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(et
7S | emaz | NS | nave | = = (TQE%;) Azl |2 o [NEEER 5

1 120,990 100,260 2,310 11,030 83,100 30,400 348,090 79,000 427,090

1 138,920 124,330 2,870 11,030( 105,900 39,200| 422,250 118,000 540,250

1 200,460 124,330 4,210 11,030( 119,200 50,800 510,030( 197,000 707,030

1 317,040| 163,640 4,590 11,030( 337,500( 100,900 934,700| 394,000| 1,328,700
& o | 0727 % Bsse xuuelthlz sinf 2elehl MEA| WY Mgt
. 0. 5728 % AR 2Yle HAWR 2wl Hestel £} ANt




=l AlAEHCF
2 EZE! o Al ==
2EAZ | S o NuRd | = B3| =ss | A™yl | & A | 2 st 7
s= (== N

120,990 100,260 2,310 88,160 83,100 30,400 425,220 79,000 504,220

138,920 124,330 2,870 88,160( 105,900 39,200 499,380 118,000 617,380

200,460 124,330 4,210 88,160( 119,200 50,800 587,160 197,000 784,160

317,040 163,640 4,590 88,160 337,500( 100,900(1,011,830| 394,000| 1,405,830
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=l AlAEHCF
2 EZE! o Al ==
2EAZ | S o NuRd | = B3| =ss | A™yl | & A | 2 st 7
s= (== N

120,990 100,260 2,310 88,160 83,100 30,400 425,220 79,000 504,220

138,920 124,330 2,870 88,160( 105,900 39,200 499,380 118,000 617,380

200,460 124,330 4,210 88,160( 119,200 50,800 587,160 197,000 784,160

317,040 163,640 4,590 88,160 337,500( 100,900(1,011,830| 394,000| 1,405,830

i)
|

0. AE7| ¥ E5&82 == FUCIZ sl T HSA| HE H st
0. 37|24t & XA 2ut2 HAHZE U2 E X510 F7+ A Metct




=l AlAEHCF
2 EZE! o Al ==
2EAZ | S o NuRd | = B3| =ss | A™yl | & A | 2 st 7
s= (== N

120,990 100,260 2,310 29,580 83,100 30,400 366,640 79,000 445,640

138,920 124,330 2,870 29,580 105,900 39,200 440,800 118,000 558,800

200,460 124,330 4,210 29,580 119,200 50,800 528,580 197,000 725,580

317,040 163,640 4,590 29,5680 337,500( 100,900 953,250 394,000| 1,347,250

i)
|

0. AE7| ¥ E5&82 == FUCIZ sl T HSA| HE H st
0. 37|24t & XA 2ut2 HAHZE U2 E X510 F7+ A Metct




M= ct ES ol L £ 4 M = gl & Bl
= = @ ==
x| == [ = It = 9 & It = 9 & It = 9 = = 9
1-1. 223 Z D15mm
2B A2 & AL 0.06 ¢! 106,400 6,384 106,400 6,384
B 2 S(=%) 0.09 ¢l 149,515 13,456 149,515 13,456
2SR 0.18 ¢l 102,628 18,473 102,628 18,473
& 3 Dl 0.51 hr 466 237 466 238
M = 50+15 1 EA 37,100 37,100 37,100 37,100
HABARLIS 15 1 EA 4,410 4,410} 4,410 4,410
S NN 15 1 EA 2,510 2,510} 2,510 2,510
A 15 1 EA 3,370 3,870} 3,370 3,370
A Al 85,940 38,313 47,390 238
2HE £ 28| 4,444 BEZ L 2Hl x 11.6% = 4,444
JIEH &I 5,679v(IH§HI + =2Hl) x 6.3% = 5,679
2 Bh2tel gl 5,764V(IH§LH| + =24l + &Hl) x 6% = 5,764
ol = 8,166 (=22Hl + &H| + LEt&e|dl) x 15% = 8,166
A 109,993
SILXIA 10,999
g A 120,992 = 120,990




M= ct ES ol L £ 4 M = gl & Bl
= = @ ==
x| == [ = It = 9 & It = 9 & It = 9 = = 9
2. =2AZ D20mm
LB H2H A 0.06 ¢! 106,400 6,384 106,400 6,384
2 B (%) 0.09 ¢l 149,515 13,456 149,515 13,456
2SR 0.18 ¢l 102,628 18,473 102,628 18,473
& 3 Dl 0.51 hr 466 237 466 238
M = 50+20 1 EA 48,500 48,500 48,500 48,500
HABARLIS 20 1 EA 5,900 5,900} 5,900 5,900
S NN 20 1 EA 3,060 3,060} 3,060 3,060
A 20 1 EA 4,160 4,160} 4,160 4,160
A Al 100, 170 38,313 61,620 238
2HE £ 28| 4,444 BEZ L 2Hl x 11.6% = 4,444
JIEH &I 6,576v(IH§HI + =2Hl) x 6.3% = 6,576
pkatel gl 6,671v(IH§LHI + S 2Hl + &Hl) x 6% = 6,671
= 8,436 (=2Hl + &Yl + LEt&eldl) x 15% = 8,436
A 126,298
SILXIA 12,630
g A 138,927 = 138,920




M= ct ES ol L £ 4 M = gl & Bl
= = @ ==
x| == [ = It = 9 & It = 9 & It = 9 = = 9
3. =2AZ D25mm
LB H2H A 0.08 ¢ 106,400 8,512 106,400 8,512
2 B (%) 0.15 ¢l 149,515 22,427 149,515 22,427
2SR 0.28 ¢l 102,628 28,735 102,628 28,735
& 3 Dl 0.63 hr 466 293 466 294
M = 75%25 1 EA 65,600 65,600 65,600 65,600
HABARLIS 25 1 EA 8,000 8,000} 8,000 8,000
S NN 25 1 EA 3,760 3,760} 3,760 3,760
A 25 1 EA 6,069 6,069} 6,069 6,069
A Al 143,396 59,674 83,429 294
2HE £ 28| 6,922 AHL-LHl x 11.6% = 6,922
JIEH &I 9,452v(IH§HI + =2Hl) x 6.3% = 9,452
pkatel gl 9,586v(IH§LHI + S 2Hl + &Hl) x 6% = 9,586
Ol Z 12,889 (= 24| + ZHl + Ler&Ag|d]) x 15% = 12,889
A 182,245
SILXIA 18,225
= Al 200,469 = 200,460




= e 2 T sl PN = u | &3 a]
= =
== = = 9 & It = 9 & It = 9 = 9
4. =2AZA D40mm
LB H2H A 106,400 9,576 106,400 9,576
B 2 = 149,515 26,912 149,515 26,912
2SR 102,628 36,946 102,628 36,946
& = Dl 466 321 322
M = 122,600 122,600 122,600 122,600
HABARLIS 15,500 15,500» 15,500 15,500
S NN 6,550 6,550} 6,550 6,550
AL 13,875 13,875» 13,875 13,875
A Al 232,280 73,434 158,525 322
2HE £ 28| 8,518 ¥ LRHl x 11.6% = 8,518
JIEt &l 15,15OV(IH§HI + =2Hl) x 6.3% = 15,150
2 Bh2tel gl 15,357V(IH§LHI + =24l + &Hl) x 6% 15,357
Ol = 16,917 (=224 + ZHl + Ler&Ag|d]) x 15% = 16,917
Al 288,222
SILXIA 28,822
g A 317,044 = 317,040




==t b ES el L 2 4 Mo &  dl g bl
& = el HI 2D
Xl = Ci N = ) = o = = o = = o ¢ Ot = o
2-1. HEI L 25& &KXl D15mm
2ss&X B 2t = 0.148 ¢l 149,515 22,128 149,515 22,128
23028 0.148 ¢l 102,628 15,188 102,628 15,188
HEIIE X o 2t = 0.102 ¢l 149,515 15,250 149,515 15,250
2308 0.102 ¢l 102,628 10,468 102,628 10,468
HEIIESS 1100mm 1 EA = At
S A 63,034 63,034 0
2 = 24 7,312 AE 24l x 11.6% = 7,312
JlEb &l 4,432 (MHEHl + =24l) x 6.3% = 4,432
22| Y| 4,487 (W24l + =2H + ZHl) x 6% = 4,487
Ol & 11,890 (=20l + &4l + Ler2Ae|dl) x 15% = 11,890
A 91,154
SIIFXIA 9,115
g A 100,269 = 100,260




Mz 3 ct ES ol L £ 4 M 2 gl & a]
z ¢ o2 = bl
Xl == < & It = 9 & It = 9 & It = 9 = = 9
2-2. H&I L 25 AXl 020mm
BSE4X B & 2 0.188 2 149,515 28,108 149,515 28,108
BS0E  0.188 o 102,628 19,294 102,628 19,294
HSIIHX B & S 0.122 EA 149,515 18,240 149,515 18,240
BSOS 0.122 EA 102,628 12,520 102,628 12,520
HBILESS  1100mm 1 EA RN
A A 78,162 78,162 0 0
2 = 24| 9,067 ME L4l x 11.6% = 9,067
JIEF & 5,495 (24| + =2HI) x 6.3% = 5,495
Btz 5,563 (M2l + =24 + FHl) x 6% = 5,563
0l 2 14,743 (= 2HI + ZHl + LEr22IH]) x 15% = 14,743
A 113,031
S ILILXI A 11,303
=i A 124,333 = 124,330




Mz 3 ct ES ol L £ 4 M 2 gl & a]
z ¢ o2 = bl
Xl == < & It = 9 & It = 9 & It = 9 = = 9
2-3. H&I| L 25 &Il 025mm
BSE4X B & 2 0.188 2 149,515 28,108 149,515 28,108
BS0E  0.188 o 102,628 19,294 102,628 19,294
HSIIHX B & S 0.122 EA 149,515 18,240 149,515 18,240
BSOS 0.122 EA 102,628 12,520 102,628 12,520
HBILESS  1100mm 1 EA g
A A 78,162 78,162 0 0
2 = 24| 9,067 ME L4l x 11.6% = 9,067
JIEF & 5,495 (24| + =2HI) x 6.3% = 5,495
Btz 5,563 (M2l + =24 + FHl) x 6% = 5,563
0l 2 14,743 (= 2HI + ZHl + LEr22IH]) x 15% = 14,743
A 113,031
S ILILXI A 11,303
=i A 124,333 = 124,330




2 9 = oL LS H = 3 bl
= = el
= =), = o c Ot = o = = o
2-4. HEI L E5& &X 040mm
2ss&X 2 3 0.253 149,515 37,827 149,515 37,827
23028 0.253 102,628 25,964 102,628 25,964
HEIIE X o 2t = 0.155 149,515 23,174 149,515 23,174
2308 0.155 102,628 15,907 102,628 15,907
dIILESS 1100mm 8 4
N Al 102,872 102,872 0
8 2| 11,933 AE =SRHl x 11.6% = 11,933
JIEt &l 7,233 (MHZHl + =2H|) x 6.3% = 7,233
2 Bty 7,322 (MZHl + =24l + &Hl) x 6% 7,322
Z 19,404 (=2Hl + ZHl + Ler&edl) x 15% 19,404
Al 148,764
SILILXIA 14,876
gf Al 163,640 = 163,640




Mz ¢ ct e 2 S 2 H M = & u]
z o A %
Xl = < = = N o Ot = N o Ot = A = I = o
3-1. 224 (D15mm) mE
e - B 2 = 0.0012 ¢l 149,515 179 149,515 179
23028 0.0013 ¢! 102,628 133 102,628 133
S0l = HlEt= 1.00 m 1,440 1,440 0 1,440 1,440
e Al 1,752 312 1,440 0
HE L 2| 3B HELRH x 11.6% = 36
JIEt &l 113 (MZHl + “2RHl) x 6.3% = 113
2 Bkately| 114 (MEH + =24l + ZHl) x 6% = 114
0] Z 86 (=28l + &Yl + LEr2teldl) x 15% = 86
Al 2,101
SIILXI A 210
=i Al 2,311 = 2,310




Mz ¢ ct e 2 S 2 H M = & u]
z o A %
Xl = < = = N o Ot = N o Ot = A = I = o
3-2. Mz24 (020mm) mE
e - B 2 = 0.0013 ¢! 149,515 194 149,515 194
23028 0.0015 ¢! 102,628 153 102,628 153
S0l = HlEt= 1.00 m 1,840 1,840 0 1,840 1,840
e Al 2,187 347 1,840 0
HE L 2| 40 BEL=2Hl x 11.6% = 40
JIEt Z&Hl 140 (MHZHl + = 2Hl) x 6.3% = 140
2 Bhatel gl 142 (MEHl + =2H + &Hl) x 6% = 142
0l Z 100 (=22H| + ZH| + LEr22lHl) x 15% = 100
Al 2,610
SIILXI A 261
=i Al 2,871 = 2,870




Mz 2 =) e 2 S £ M =l &3 u]
z o A %
Xl = < = = N o Ot = N o Ot = A = I = o
3-3. M224 (D25mm) mE
424 B 2 = 0.0018 ¢! 149,515 269 149,515 269
23028 0.0022 @I 102,628 225 102,628 225
S ol HlEt= 1.00 m 2,720 2,720 0 2,720 2,720
e Al 3,214 494 2,720 0
HE L 2| 57 HEL2H x 11.6% = 57
JIEt &l 206 (MHEHl + = 2H[) x 6.3% = 206
2 Bhatel gl 209 (MZ&Hl + =248] + &H|) x 6% = 209
0] Z 145 (= 22H| + ZH| + LEr2eldl) x 15% = 145
Al 3,831
SIILXI A 383
=i Al 4,214 = 4,210




Mz 2 =) e gt S £ M =l &3 u]
z o A %
Xl = < = = N o Ot = N o Ot = A = I = o
3-4. H2A24 (040mm) mE
e - B 2 = 0.0030 ¢! 149,515 448 149,515 448
23028 0.0037 ¢! 102,628 379 102,628 379
PELIOI X PE 1.000 m 2,600 2,600 0 2,600 2,600
e Al 3,427 827 2,600 0
HE L 2| 96 MELPHl x 11.6% = 96
JIEH ZHI 222 (MHEHl + = 2Hl) x 6.3% = 222
2 Bhatel gl 225 (ME&Hl + =248] + ZHl) x 6% = 225
0] Z 205 (=22Hl + &Hl + er&2|dl) x 15% = 205
Al 4,175
SIILXI A 418
=i Al 4,592 = 4,590




=l c = o L 2 =] z H
z ¢ o2 = bl
N Q| = ot = o =] = o =] = o S| =2 oo
4-1. EZ(EMNT2H) S
B O Dl eIl 0,720 W 5,989 4,311 5,295 3,812 244 175 450 324
(0.2m")80%
SHIIucty 7 0.720 m 3,886 2.79%  3.211 2311 237 170 438 315
(0.2m")90%
A A 7,107 6,123 345 639
2 L 2| 710 AL 2Hl x 11.6% = 710
JlEt A 452 (H2Hl + “2H|) x 6.3% = 452
k2| Y| 496 (MH2Hl + S 2H| + ZH|) x 6% = 496
0l e 1263 (= 2H| + 2t + Lerze(d]) x 15% = 1,263
y;| 10,029
IR Al 1,003
= p;| 11,031 - 11,030




Me cr = ok o2 ol M2 = bl
z 9 oA x
I 9| e ot 2 0% | e 2 9 [ep| 2 A [ 9| 2 o
4-2. EZ(2IETY) Y
B ot Dl S 0.600 5,989 3,593 5,295 3,177 244 146 450 270
HHRINLTHE e 0.600 m 3,886 2,330 3,211 1,926 237 142 438 262
A A 5,923 5,103 288 532
2 L 2| 592 MEFLL2H x 11.6% = 592
JIEt &l 377 (W28l + =2Hl) x 6.3% = 377
skl Yl 414 (MBH + “2H| + ZH]) x 6% = 414
0l = 1,053 (=24l + 3Hl + LEHR2/H]) x 15% = 1,053
H 8,358
SOLIFXI M 836
= H 9,193 = 9,190




Me cr = ok o2 ol M2 = bl
z 9 oA x
I 9| e ot 2 0% | e 2 9 [ep| 2 A [ 9| 2 o
4-3. EZ(0tART2) Ing
B ot Dl S 0.630 m 5,989 3,771 5,295 3,335 244 153 450 283
IHRINLTHE 5o 0.510 m 3,886 1,980 3,211 1,637 237 120 438 223
A A 5,751 4,972 273 506
2 L 2| 577 REL2H x 11.6% = 577
JIEt &l 367 (W2Hl + =SHl) x 6.3% = 367
skl Yl 402 (2Hl + =28l + ZH]) x 6% = 402
= 1,023 (=24l + 3Hl + LEHR2[H]) x 15% = 1,023
H 8,120
SOLIFXI M 812

il

A 8,931 = 8,930




Me cr = ok o2 ol M2 = bl
z 9 oA x
I 9| e ot 2 0% | e 2 9 [ep| 2 A [ 9| 2 o
4-4, EB(REET)
B ot Dl e 0.672 W 5,989 4,023 5,295 3,558 244 163 450 302
HHRINLTHE e 0.630 m 3,886 2,446 3,211 2,022 237 149 438 275
A A 6,469 5,580 312 577
2 L 2| 647 REL2H x 11.6% = 647
JIEt &l 412 (M2Hl + “2Hl) x 6.3% = 412
skl Yl 452 (MYl + =28l + ZH]) x 6% = 452
0l = 1,150 (=24l + 3Hl + LEH22/H]) x 15% = 1,150
H 9,130
SOLIFXI M 913
= H 10,043 = 10,040




W ey E= oy Hi W= 2 H
z o A %
= &t | 2 o % | e | 2 o |23 2 o
232ETF =27 (InZ)
23z EnT 2.000 2,690 5,380 3,706 799 1,598 38 76
232 E0)) 0. 140 44,310 6,202 4,156 4,795 671 9,823 1,375
232Eny 0.700 25,215 17,649 14,719 1,823 1,076 2,364 1,654
HIIZ X2l 0.322 & 20,548 6,616 20,548 6,616
HOIS29  1=30kmOISH  0.322 £ 13,660 4,398 13,660 4,398
NEDOIE 1.0 Al 15,59 15,596 15,506 15,59
A A 55,841 22,581 19, 141 14,119
2 2y 2,619 x 11.6% = 2,619
JlE Z| 2,794 (M2l + =2H) x 6.3% = 2,794
Aprpre|y) 3,675 (M2 + =2 + FHI) x 6% = 3,675
ol 2 6,868 (=26l + AH| + LErB2IH]) x 15% = 6,868
| 71,797
SR A 7,180
&t ] 78,977 78,970




ot A
z o = H W2 2 H

z o -

o O} o | e It o | 23| 2 o |@| 2 o
OIAZEY =27 (InZ)
OtAEEE 2.000 1,967 3,93 1,213 2,426 721 1,442 33 66
OtAZH D] 0.105 1,430 1,198 7,406 771,377 144 2,647 277
OFABEE 25 0.700 24,175 16,921 19,972 13,980 1,958 1,870 2,245 1,571
IOl 2 Efa e 0.105 35,472 3,723 34,777 3,652 695 72
HOIZ A2l 0.247 £ 21,307 5,262 21,307 5,262
HOI228  L=30kn0l5t 0.247 £ 14,300 3,508 14,300 3,528
NERG! 1.0 Al 22,183 22,153 22,153 22,153
£ 56,719 20,835 25, 181 10,704
AT 2| 2,417 MBLRH| x 11.6% = 2,417
JIEE &l 3,051 (H2Hl + =2H|) x 6.3% = 3,051
Qutpr2| | 3,731 (MBI + =201 + Y1) x 6% 3,731

6,111 (=28l + 3H| +

ek2teldl) x 15% =

6,111

A 72,029
SO 7,203
g A 79,231 = 79,230




L 9 M
V== =) =5 gt S £ M =l &3 u]
3 == = Bl
% Al =22 | 2 o |2 2 4 [0 ]| =2 & (3| 3 o
A8INAES BN L =57 (InH)
ECESRE H)Y 0.70 m 1,093 765 1,093 765
BEESXE 0.70 m 6,745 4,720 3,742 2,619 2,488 1,741 515 360
2RE2 =22 3% 1.0 4] 78 78 79 78
A2 XHIH CH 1.0 & 9,030 9,030 9,030 9,030
~ A 14,593 3,384 10,771 438
L& 2| 393 B -2H| x 11.6% = 393
JIEF &l 916 (MH2HI + =RH|) x 6.3% = 916
2 Bhatel gl 954 (MHZ Bl + =2H| + &Hl) x 6% = 954
0l Z 913 (=28l + ZHl + Ler&eld]) x 15% = 913
H 17,769
SIIXIA 1,777
=i A 19,545 = 19,540




I =
ME Y e = o L 2 Moo= o & Bl
z g 2 % bl
= <l e o = o e It 2 o g Ot 2 o e ot o
1. 2321E 2= ARD moog 24,061 19,934 1,734 2,393
208 0.060 ol 102,628 6.157 102,628 6,157
z 8 Z 0.020 o 141,226 2,824 141,226 2,824
Z01E ZLE 1.58 0.160  hr 22,122 3.538 20,106 3,216 1,446 231 570 91
TS S (B EIH0IEA]) 0.7 0.160 hr 24,147 3,862 20,106 3,216 2,478 396 1,563 250
=2 0.18m 0.160  hr 48,013 7.680 28,259 4,521 6.923 1,107 12,831 2,052
2. A XHCH (232E2H mog 15,596 15,596>
g o =2 25-21-8 0.140 m' 78,970 11,055 78,970 11,055
3 oo #6 100%100 0.630 m 4,140 2.608 4,140 2,608>
Gl 0.700 m’ 162 113 162 113
SEWIEESIE) 40mmO| 5t 0.140, m 13,000 1,820 13,000 1,820
3. OtAZ EE=D ARD moog 16,562 12,197 1,972 2,393
208 0.060 ol 102,628 6,157 102,628 6,157
zZ 8 =2 0.020 o 141,226 2,824 141,226 2,824
Z30IE BHE 1.58 0.160  hr 22,122 3.538 20,106 3,216 1,446 231 570 91
DS E2A(HMEIH0I=4]) 0.7€ 0.160 hr 24,147 3,862 20,106 3,216 2,478 396 1,563 250
24| 0.18m 0.160 hr 48,013 7.680 28,259 4,521 6.923 107 12,881 2,052
OIAZE S RSC—4 0.0015 D/M 155,000 238 155,000 238




o 9 of Tt
ME Y et = e = 2 M2 & bl
z g 2 % bl
= <l e o = o = = e o 2 o O} =
4. ASTETHCH (OtAZEH) nog 6.557 6.557
o A 2 478 BER 0.083 ton 79,000 6.557 79,000 6.557
5. HE2E #) moog 1,093 1,093 0 0
= sgols 0.0033 ¢l 123,074 406 123,074 406
208 0.0067 @ 102,628 687 102,628 687
6. HE22 ZF mloog 4,344 3,478 369 497
= oo sgo= 0.0067 @l 123,074 824 123,074 824
2sos 0.0133 ¢ 102,628 1,364 102,628 1,364
Z01E ZLE 1.58 0.0267 hr 22,122 589 20,106 536 1,446 38 570 15
24| 0.6 0.0267  hr 58,735 1,567 28,259 754 12,406 331 18,070 482
7. NS (2ce2=uy mog 9,030 9,030
ES-InkitE 0.7 m 10,000 7.560 10,000 7,560
2 0.049 m 30,000 1,470 30,000 1,470
8. HII2x 2l (2321E) mog 6.616 0 0 6.616
B2 2l 0.322 Ton 20,548 6.616 0 0 20,548 6.616
9. HIIZ2X 2 (OrAZ) no g 5,262 0 0 5,262
B2 2l 0.247 Ton 21,307 5,262 0 0 21,307 5,262




I =
ME Y e = o L 2 Moo= o & Bl
z g 2 % bl
= <l e o = o e It 2 o g Ot 2 o e ot o
1. 2321E 2= ARD moog 24,061 19,934 1,734 2,393
208 0.060 ol 102,628 6.157 102,628 6,157
z 8 Z 0.020 o 141,226 2,824 141,226 2,824
Z01E ZLE 1.58 0.160  hr 22,122 3.538 20,106 3,216 1,446 231 570 91
TS S (B EIH0IEA]) 0.7 0.160 hr 24,147 3,862 20,106 3,216 2,478 396 1,563 250
=2 0.18m 0.160  hr 48,013 7.680 28,259 4,521 6.923 1,107 12,831 2,052
2. A XHCH (232E2H mog 15,596 15,596>
g o =2 25-21-8 0.140 m' 78,970 11,055 78,970 11,055
3 oo #6 100%100 0.630 m 4,140 2.608 4,140 2,608>
Gl 0.700 m’ 162 113 162 113
SEWIEESIE) 40mmO| 5t 0.140, m 13,000 1,820 13,000 1,820
3. OtAZ EE=D ARD moog 16,562 12,197 1,972 2,393
208 0.060 ol 102,628 6,157 102,628 6,157
zZ 8 =2 0.020 o 141,226 2,824 141,226 2,824
Z30IE BHE 1.58 0.160  hr 22,122 3.538 20,106 3,216 1,446 231 570 91
DS E2A(HMEIH0I=4]) 0.7€ 0.160 hr 24,147 3,862 20,106 3,216 2,478 396 1,563 250
24| 0.18m 0.160 hr 48,013 7.680 28,259 4,521 6.923 107 12,881 2,052
OIAZE S RSC—4 0.0015 D/M 155,000 238 155,000 238




o 9 of Tt
ME Y et = e = 2 M2 & bl
z g 2 % bl
= <l e o = o = = e o 2 o O} =
4. ASTETHCH (OtAZEH) nog 6.557 6.557
o A 2 478 BER 0.083 ton 79,000 6.557 79,000 6.557
5. HE2E #) moog 1,093 1,093 0 0
= sgols 0.0033 ¢l 123,074 406 123,074 406
208 0.0067 @ 102,628 687 102,628 687
6. HE22 ZF mloog 4,344 3,478 369 497
= oo sgo= 0.0067 @l 123,074 824 123,074 824
2sos 0.0133 ¢ 102,628 1,364 102,628 1,364
Z01E ZLE 1.58 0.0267 hr 22,122 589 20,106 536 1,446 38 570 15
24| 0.6 0.0267  hr 58,735 1,567 28,259 754 12,406 331 18,070 482
7. NS (2ce2=uy mog 9,030 9,030
ES-InkitE 0.7 m 10,000 7.560 10,000 7,560
2 0.049 m 30,000 1,470 30,000 1,470
8. HII2x 2l (2321E) mog 6.616 0 0 6.616
B2 2l 0.322 Ton 20,548 6.616 0 0 20,548 6.616
9. HIIZ2X 2 (OrAZ) no g 5,262 0 0 5,262
B2 2l 0.247 Ton 21,307 5,262 0 0 21,307 5,262




At M =t It

g Z CH | 7T = ZYHI 28 KRSEESIHVATHL ML H E X A
o2 m’ 25-21-80 78,970 78,970 78,970
#467 (J15E) 47,000 67,000 47,000 47,000
o2 Ton
#8 (E58) 79,000 79,000 79,000
2+O1 Of OH = m* #6-100%100 4,140 4,180 4,140 4,140
L= Y4 1,247 1,247 1,247 DAIDHVAT 25)
4 = { 1,050 1,050 1,050 DAIDH(VAT 2 &)
I (peZ2 E) m*  T=0.03mm x 90cm x 91m 162 177> 162 162
SRIISM m 2EtHl & | 13,000 13,000 wrz=, ax=(s2)
2 m 2Pl % 30,000 30,000 wwrz= axt=(o1+22)
sSYEY m #6-100%100 4,140 4,180v 4,140 4,140
HOl2xelbl (HotA2) ton 2B VATES 21,307 21,307 21,307
HII2MelH(HZ32IE) ton 28| VATES 20,548 20,548 20,548
Mo = ea 50 x 15mm 37,100 37,100 37,100
A ea D15mm 3,370 3,370 3,370
g =2 A 7l ea D15mm 2,510 2,510 2,510
(AF7)FH2  ea D15mm 4,410 4,410 4,410 4,410
M= ea 50 x 20mm 48,500 | 48,500 48,500
) ea 020mm 4,160 4,160 4,160
= AT ea 020mm 3,060 3,060 3,060
AgIhgUS  ea D20mm 5000 5900 5900 5900
Mo = ea 75 % 25mm 65,600 65,600 65,600
A ea 025mm 6,069 6,069 6,069
B2 A ea D25mm 3,760 3,760 3,760
(AZZ)wH2  ea 025mm 8,000 8,000 8,000 8,000
A ea 75 % 40mm 122,600 122,600 122,600
P ea 040mm 13,875 13,875 13,875
e A7 ea 040mm 6,550 | 6,550 6,550
(AZZ)7HU2  ea D40mm 15500 15,500 15,500 15,500
=S 0I1E I ea  D15mm(1008H =) 30,400 | 30,400 30,400 £==2 sixtsE
=S 0IEDI ea = D20mm(100HH =) 39,200 39,200 39,200 £2x4 GIXE
=S 0l 7I ea = D25mm(100HH =) 50,800 50,800 50,800 == GixE
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At N =t ot

g & o Tt = ZEEI 2)HEE RS2t VATHE MHIt E & £ A

== 0I1H 7] ea  D32mm(100HH &) 78,900 78,900 78,900 €E= 4 BIXE

== 08I ea  D4Omm(1006HE) 100,900 100,900 100,900 €34 SIS
NHINESS(SFZHMA) ea D15 1100mm 71,400 71,400 71,400
HEIIESS(SFZEML) ea 020 x 1100mm 86,400 86,400 86,400
HHIESS(SFZEML) ea 025 x 1100mm 99,700 99,700 99,700
HHIESS(SFZEML) ea 032 x 1100mm 239,300 239,300 239,300
HHIESS(SFZEML) ea 040 x 1100mm 298,500 298,500 298,500
HEINESS(52) ea 013 11,700 11,700 11,700
HEINESS(52) ea 020~25 19,500 19,500 19,500
HEINESS(52) ea 032 27,200 27,200 27,200
HEINESS(52) ea 040~50 39,000 39,000 39,000
SRI0IE m GIEFZ D15mm 1,440 1,440 1,440
S0l =2 m OlEt= D20mm 1,840 1,840 1,840
Sgnor= m BIEFZ D25mm 2,720 2,720 2,720
SEnor=E m OIEFZ D32mm 3,860 3,860 3,860
=S EPEIIOI X m PE D40mm 2,600 2,600 2,600
AEDSSH(UE,IE) m 223x112.5%80 10,000 11,050 | 10,000 10,000
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m
oH
1>
oY

>
Wy

10| 2 (25-21-80)
0.2
1.2
1.0
|
0. 2AEA
= = A ~z | os
B om0 |(0.70 + 0.50) 1 0.600
g eIl |0.70 + 0.50) 1 0.600
=321 T4y 0.20 x _ 0.140
23971 Bo 1000 + 2000
HIl2(232 ) 0.20 x 0.70 x 1.0 x 2. 0.32
2371 Tx 0.20 x _ 0.140
o= _
o) 0.20 x _ 0.140
ErET
(#6-100%100) 0.70° 0.63




7)) AL -
ESLZASA
3. oA EAZE
0. =g
| 0.70 I OtAZ2(EZ #78)
| 1
0.05]_ %
0.1] n OLA2 (IS #467)
0.2 I = X J|E (44 440m0| 5 )
1.2
0.85
0.5
0. 2ZAEA
= = A = oz A Az | o9
B o Il [0.700 + 0.50) <+ 2.0) x 1.05 x 1.0 | 0.630 m
= o I |(0.700 + 0.50) + 2.0) x 0.85 x 1.0 | 0.510 m
OFAZ T4y 0.15 x 0.70 x 1.0 = 0.105 I
olAR Hch 1.000 + 1.000 = 2.000 m
HolZ2(0tAR) 0.15 x 0.70 x 1.0 x 2.35 = 0.247 ton
AR EXR 0.70 x 1.000 = 0.700 i
==l S 07 x 02 x 1.0 = 0.140 m
(M A 25mm0|5t) ' ' o ‘
OlAZR (EZ #78) 0.05 x 0.70 x 1.0 x 1.02(H2&=)= 0.036 m
232E (J|=) 0.15 x 0.70 x 1.0 = 0.105 m
AR (EZ #78) 0036 x 2.35 = 0.083 ton
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